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e Please check that this question paper contains 11 printed pages and
2 pages of maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :
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(viii)
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There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Out of which one question is a value based question. Answer to each
of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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G HE H AWIGAT H THIGG HH A B &l TR H 3gE
Wl i+£=1

2 2

State the two groups of factors which affect the profitability of mining.

TR o [hT 2 U TShi &1 Tcd I 371 g 2 1
Which country of the world has the highest road density ?

U o fohegl ot Afiem (|1Et) T & 9m fafee | Ty1-

Name any two garrison (cantonment) towns of India.

qfved UREN § @ GEu1sll w1 98 w6 F&bi g3 3 ? Th B0 WE
HIT | 1

Why is West Asia the least developed in rail facilities ? Explain one

reason.

‘Sfeq Tieht T8t HHH & § I el Ty FHESl hl W hifvu | 1

Examine the twin environmental problems that have emerged in the

‘Indira Gandhi Canal Command Area’.

TETEfer Td wifaes el % SER W @l et Hifv | é+i=

Classify minerals on the basis of chemical and physical properties.

MY Y & § St <hi TUIEl sl U § fohd TR HEg L Hehd & ? 1

How can you help in improving the quality of water in your locality ?
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At ¥ fewrs 78 98t 1 yg= Hifse 3t g 9m fafgu |
39 T8t ! g IR famivamd fafgu |



Study the map given below carefully and answer the questions that
follow :

# Salhia

Ismailiya_4

Bilbeis

=== SHIP CANAL

scmem RAILWAYS

—— FRESH WATER CANAL

KM 5l0 (i) 5l0 KM

(8.1) Identify and name the canal shown in the map.

(8.2)  Write any four characteristics of this canal.
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Fig:  [Elciaa g9 e gIREaTed gheferEr & [o7g, J97 G&I 8 F T W&

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 8 :

HI-H TE 3 HEEN W SSdl @ 2 96 T8 hl fohedl = famiwanet 1 sg@

I | 1+2=3
Which canal connects two oceans ? Write any four characteristics of that
canal.

9. IR U s@ar Weri i foheal A femansti w1 avia ifs | 3x1=3

Describe any three characteristics of chain stores in the world.

10. = feu U s w1 steaEH hifse 3t 39k A= feu u gwi o I fofiege ¢ 9x1=3

T WA

(10.1) FR T MU 3097q §IF h1 TgaH hHiW AR I35kt 99 fafaw | a7
o fhe TS T a7 2

(10.2) 39 TET@ T9F o foTU wIfth 1 T&F &I 1 8 ? 39 G I HhiA-Al
Yommt aftagd i glawn yem ot g 2

(10.3) 39 3TITT TIF o ToTU GAIE-3TTEh A1 I & &F A -4 g ?
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Study the diagram given below and answer the questions that follow :

Steel Plant

Steel Plant
Dolomite

*
ES
e Manganese

Dalli Rajhara Hills
Iron-Ore
] Coal
Iron

=] Railway

(10.1) Identify and name the steel plant given above. In which State is
this plant located ?

(10.2) Which is the main source of power for this steel plant ? Which
rail route provides transport facilities to this plant ?
(10.3) What are the major sources of iron-ore and water for this steel
plant ?
e :  HEkiiad yeT Faa g gheniaal & g, yvT @7 10 & &
WE:

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 10 :

THRACY H 1T ARl 3R ST I hl T 6 QIR fordl diF @
TR shl ST <HIFIY | 3x1=3

Explain any three major factors responsible for the establishment of Tata
Iron and Steel industry in Jamshedpur.

64/1 7 P.T.O.
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12.

13.

14.

15.

16.

17.
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“feren! UMY g W el TR, 39 W IS Tk Ad T8l & |7 faftw wrvevel @
TR A BY 38 HAA 1 foReiyur HIT |

“There is no consensus on what exactly defines a village or a town.”
Analyse the statement by using different criteria.

“Tepfd STIER YEH AT g 3R A ITehT TN hid & a1 - Tpid
HTEROT 1 ST 8 T Yehfd W A SRATE <l B9 Ugd @l 8 |7 38 hed
=1 Hifuca g i |

“Nature provides opportunities and humans make use of these and slowly
nature gets humanised and starts bearing the imprints of human
endeavour.” Justify the statement.

“ara H Sedl g3 SHEEd SR 3iENfie foRdR % g 9 % ALYy 3TN |
S < T[UTE 1 Igd HET B |7 S <l UrE hl SHIC W H HGg L Hehel
Tt qedi <hl SATEAT hINT, |

“Indiscriminate use of water by increasing population and industrial
expansion has led to degradation of the water quality considerably in
India.” Explain the values that can help in maintaining the quality of
water.

qRa s 78 Mefies Hifd, 1991 % fohrgl =R & 33l &l 3@ HIfT | &1

3evl 1 wiftq o JvefieRtor i iRt 1 auia I | 2+3=5

Mention any four major objectives of the New Industrial Policy, 1991 of
India. Describe the role of globalisation in achieving these objectives.

“fepe a9 o ITTHRR 3 IGeh! Tfd STk ™ 1 gFd fIhm® @ IcIer gy Tal

2 1”7 3eTelunt gfgd 38 e i gfE i |

“The size of a territory and per capita income are not directly related to
human development.” Support the statement with examples.

YaTd fohe TehR Rl & W STaEdl & U faair 1 YR 8 ? 9Rd § YaTd

= 3Tfeles iUl <Al same hIfST | 2+3=5

How is migration a response to the uneven distribution of opportunities
over a space ? Explain the economic consequences of migration in India.

“ameyfies Twa o raRig SR fave srdfeeTan w1 MUR R 1”7 IeEwn |fga

39 HYA 1 gfE Hfw | 5x1=5

“In modern times international trade is the basis of the world economy.”
Support the statement with examples.
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18.

19.

20.

21.
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I HY 6 FEesti & FH1H o fore fhe U fopeel ater 3umi &1 aten
T | 5x1=5

Review any five measures adopted to solve the problems of Indian

agriculture.

faea W yafad meq fate W &1 Q1 et § Fifihd HINY | 9 ThgE § TRd
TR fire & 2 T Fifsm | 1+4=5

Classify intensive subsistence agriculture into two categories practised in

the world. How are they different from each other ? Explain.

HIIEUE 37 TUrE o MR T TR o @1gA1 i & a7 § Ffiehd hIfT |
weeh at <l ol o1 fomiwanet < =amen hifse | 1+4=5

Classify means of communication on the basis of scale and quality into

two categories. Explain any two characteristics of each category.

TaR % U T TSHifos W@rAEeE (98 183 W), § f@m T outa vimfass
@I A, B, C, D 31 E hl 9g== hifvu 3R 39 g 9m F=fefiga st

Sl Agg ° 3oh I Wi 78 s W AR 5x1=5
A, 3THRT T &R H fE F TH T W
frates Tusw 1 T THE &
C. ‘urmgrgid Wemnt %1 if=m e
D. T% Y@ 9qgI-q0H
E. U =g aid-ucH

Identify the five geographical features shown on the given political
outline map of the World (on page 13) as A, B, C, D and E and write
their correct names on the lines marked near them with the help of the
following information :

A.

= O QW

A large country of Africa in terms of area

A major area of subsistence gathering

The terminal station of a “Transcontinental Railway’
A major seaport

An international airport

9 P.T.O.



Note :

22,

64/1

el e7 @ac gieanea ahenfeen & fog, 97 g6 21 & T
WE:
The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1)
(21.2)
(21.3)
(21.4)
(21.5)

(21.1)
(21.2)
(21.3)
(21.4)
(21.5)

3ThIRT o SFABA 61 gfY & T a8 <9 1 419 fafaw |

FER o fordll T Y@ Tated guger & w1 AW fofen |
YR-HTES T I o foreft ueh arf<m wevm &1 9m fafau |
I TR o Torell T Jg@ Tgg-uad 1 9 fafEu |
gfequr iRt & foreft weh Stauigiar arg-ue = 9w fafau |

Name a large country of Africa in terms of area.

Name any one major area of subsistence gathering in the world.
Name any one terminal station of Trans-Siberian Railway.
Name any one major seaport of North America.

Name any one international airport of South America.

5x1=5

aRa % U MU TeHifaes TEramtas (98 15 W), 8§ Frefafea ason & swgw
fugl @ ewifzu i 3 W fefaw

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)

2011 1 SVAT % IR T feh FHEEAT Tca aTA T
=T 1 U IcqTeeh T

ToNrd | fEd AfeeeRR FEifeh qreh

anfesn 4 oo sioet il Tq@ @M

afte g W fed g aryg-ueH

5x1=5

Locate and label the following features with appropriate symbols on the
given political outline map of India (on page 15) :

(22.1)

(22.2)
(22.3)
(22.4)
(22.5)

The state having the highest density of population according to

Census 2011

The leading rice producing state

The software technology park located in Gujarat
The major coal field located in Odisha

An international airport located in Tamil Nadu
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Fig:  [AEliad 397 o gIRETaT et & o, 397 G837 22 @ T W
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22 :

(22.1) 2011 T STUET o ATIR YRA HT HH-G1 ToF Fad TMqh FHEEA
e T 8 ?

(22.2) YA 1 HH-AT T I 1 UV TGS 2 2

(22.3) oA H e At MEfiehl ureh o1 AW forfau |

(22.4) onfeen # feora yg@ e &= @1 am fafau |

(22.5) YA ATg § Eod Ueh AU AF-IcH Wi T fafE | 5x1=5

(22.1) Which state of India has the highest density of population
according to Census 2011 ?

(22.2) Which state of India is the leading rice producer ?

(22.3) Name the software technology park located in Gujarat.
(22.4) Name the major coal field located in Odisha.

(22.5) Name an international airport located in Tamil Nadu.

64/1 11 P.T.O.



For question no. 21
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I G, 22 & fou

For question no. 22

U T {T-AHR (TS TR )
Outline Map of India (Political)
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